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Crooked lead wire

Typefhave no lead wiredDE=8mm lef

Typethave lead wirg)DE=8mm center

Typelhave the expiration protects)
PE=8mm right

mMominal O.C Spark-over voltage
100%r= M

Tolerance of WS (%

Impulse spark-over voltage
1M

Impulse discharge current

aBr20psikA) 10times
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Have lead wire Have no lead wire

ZmEs  ZMES ZhE3 ZMES gl [t ZMES ZhE3 ZME3
aR-T5  3R-90  3R-150 3R-230 3R-250 3R-350 3R-420 3R-470
ZmEs  ZMES ZhES ZMES gl 1 [t ZMES ZhEg ol
ARE-TEL 3R-90L 3R-150L 3R-230L 3R-250L 3R-350L 3R-420L 3R-470L
ZMBE  ZWMES ZhES ZMES ZhEg ZMES ZhEg ZMES
AR-T5LF 3R-90LF 3R-150LF 3R-230LF 3R-250LF 3R-350LF 3R-420LF 3R-470OLF

s a0 140 230 240 350 420 470

k50 =650 =700 =740 =800 =900 1000 =1100

E-10=2 (5-10=2 (B-10=2 (5-100=2 (5-10=2 (5-10)=2 (5-10p=2 (5-10)=2

Impulse discharge current 1001 000psAtimes) 100 100300 1000300 1000300 1007300 1000300 1000300 100/300

Alternating discharge current
S0HZ 1 Otimes (A

Insulation resistance {1
Capacitance (PF)

Holdover voltage

f=3 10=32 10=2 10=2 10=32 10=2 10=32 10=2

=108 =107 =107 =10 =10 =10 =10 =10
=15 =145 =15 =15 =15 =15 =145 =15
f7 A7 a0 135 135 135 135 135



